

**Base Camp**

Write the answer in the simplest form

1)  $\frac{2}{3} + \frac{1}{6} =$

2)  $\frac{3}{8} + \frac{1}{4} =$

3)  $\frac{1}{12} + \frac{3}{4} =$

4)  $\frac{3}{14} + \frac{2}{7} =$

5)  $\frac{1}{6} + \frac{1}{4} =$

**Climbing**

Write the answer in the simplest form

1)  $\frac{5}{6} - \frac{1}{3} =$

2)  $\frac{3}{4} - \frac{1}{8} =$

3)  $\frac{7}{10} - \frac{3}{5} =$

4)  $\frac{7}{12} - \frac{1}{4} =$

5)  $\frac{1}{2} - \frac{1}{5} =$

**Peak**

Write the answer in the simplest form

1)  $\frac{1}{2} + \frac{3}{5} + \frac{7}{10} =$

2)  $\frac{3}{4} + \frac{2}{3} + \frac{5}{12} =$

3)  $\frac{4}{7} + \frac{1}{2} + \frac{3}{14} =$

4)  $\frac{1}{2} + \frac{2}{3} + \frac{5}{6} =$

**Summit**

1)  $1\frac{2}{3} - \frac{3}{4} =$

2)  $1\frac{1}{3} - \frac{1}{2} =$

3)  $1\frac{2}{7} - \frac{1}{2} =$

**Base Camp**

Write the answer in the simplest form

1)  $\frac{2}{3} + \frac{1}{6} =$

2)  $\frac{3}{8} + \frac{1}{4} =$

3)  $\frac{1}{12} + \frac{3}{4} =$

4)  $\frac{3}{14} + \frac{2}{7} =$

5)  $\frac{1}{6} + \frac{1}{4} =$

**Climbing**

Write the answer in the simplest form

1)  $\frac{5}{6} - \frac{1}{3} =$

2)  $\frac{3}{4} - \frac{1}{8} =$

3)  $\frac{7}{10} - \frac{3}{5} =$

4)  $\frac{7}{12} - \frac{1}{4} =$

5)  $\frac{1}{2} - \frac{1}{5} =$

**Peak**

Write the answer in the simplest form

1)  $\frac{1}{2} + \frac{3}{5} + \frac{7}{10} =$

2)  $\frac{3}{4} + \frac{2}{3} + \frac{5}{12} =$

3)  $\frac{4}{7} + \frac{1}{2} + \frac{3}{14} =$

4)  $\frac{1}{2} + \frac{2}{3} + \frac{5}{6} =$

**Summit**

1)  $1\frac{2}{3} - \frac{3}{4} =$

2)  $1\frac{1}{3} - \frac{1}{2} =$

3)  $1\frac{2}{7} - \frac{1}{2} =$